RigSEEH

cruze o REFHE RESIM X-BRES
ERRBR g KmaHEB (1)




B LAERINIRE

¥B4 |R6BL HEAMM 3 - BiEAM KERFEERE (1) ¥ fit ARG
H H ol
HE - T - - A Hirk =< iva pie B BHE P - SFEHE T 22
ol
= 1
T e
= 1
BRE=C
= 1
S A EER (km) 25015 P 15
= 1
T s A S HIRE A (km2) 3041 N 2R
= 1
BEHYAEREE - SR %gzimlﬂzﬁﬁ<iﬁlﬂzﬁﬁ> (km2) 3024 :~504 N 3E
o
= 1
A UK DI E - BT G Hudslimi A < WURIERE > (km2) 3084 E~505K N 45
i)
= 1
TOFEEEPE O3 E M ONLIETERE D 4358 FEFEBA (kn2) 30K N b&
= 1
W O VERL %gztmlﬂzﬁﬁ<fﬁlﬂzﬁﬁ> (km2) 3084 k-~504 N 65
o
= 1
B St
= 1
i G - FHE )
= 1
rees
= 1
Toe L N7
35 1




AR

(W4 R6BL HERIML £ - BHEAM AKERRFES (1) * Fi RN
IH H R %
HE - TH - &3l - Mkl Hirs AL Yo B &FA Yo - S T

EER

= 1
[ERET -4
= 1
B A B
= 1
i (R L 1ETA ) R
= 1
B A TERR
= 1
TR SRR BRED P ——

= 1

HEREEAM (F OB <)
= 1

Z Ot JFAM 8%
= 1

#Q%ﬁ%% 97%"
= 1

RET S
= 1

THE BUFH 4 %A
= 1

RETES TR
= 1

=N
IS

i
I




~ = =g Al B 4E A 2024. 10
1 /Jb\ W ﬁR = B A A 2024. 10
— : 5515 AR 1.000-00000 0.0 0
Py 1 |G WEHAER (km) 255K
EL I an sl (5 W (B o i
A 0.25
Hefifi (A)
A 0.5
Hefifi (B)
N 0.5
ot




EAME A4 A 2024. 10

1 YJH\ W %R %: fiﬁ@ﬂ%%ﬂ 2024. 10

IR 1. 000-00000 0.0 0
N ooE kAT st Gk fE (km2) 304 -
— R - B E ks BT g HiH K} T 2
A 1
Fefifi (B)
A 3
e (C)
A 5
HIFE
A 7
Gt




~ = =g Al B 4E A 2024. 10
1 /Jh\ W ﬁR = A 4R A 2024. 10
Y T— ‘ 55 B AR A 1.000-00000 0.0 0
Py gl | FOFHIRUAREEEL - G SRF G HI R < VORI > (km2) -
30LL_E~504Ti
4 F - — — ”
FERT () R i B H ik WAl o T
A 1
E1i (B)
A 3
ekl (C)
A 8
adt




EAME A4 A 2024. 10

1 D&Wgﬂi B A A 2024. 10
H . S TRIE LR 1.000-00000 0.0 0

FI N5
No4E THERT BRI DR IE - BT St IR AR < Pl AE > (km2)
3004 - ~50K7i
TR - ik E ks <X{va B HAA AR i

Hehli ()

A 1.2
i (B)

A 3.6
Al (C)

A 3.6
Hifr 8

A 3.6

&t




EAME A4 A 2024. 10

N 5 !
1 /Jb\ W ﬁR %: fiﬁ@ﬂ%%ﬂ 2024. 10

IR 1. 000-00000 0.0 0
W 5 | IRHERHEEDH O RE K ONLEZ RO 538 SEEFEREAE (km2) 30T
A - B E ks BT g HiH K} T 2
e (A)
A 1
Fefifi (B)
A 2.5
e (C)
A 4
HIFE
A 4.5
Gt




EAME A4 A 2024. 10

1 YJH\ W %R %: fiﬁ@ﬂ%%ﬂ 2024. 10

N on | REEROMR T T T I3 S AR B 1.000-00000 0.0 0
30LA_F~B0AKTii
L HERT A R WA B WAl == iz
T - 0.5
Fi () a 0.5
£ (B) A !
B2HT (C) - !
Hi B a Lo
A 2
ot




~ = HH A A 2024. 10
1 /Jh\ W ﬁR %: A 4R A 2024. 10

T SRR 1. 000-00000 0.0 0
woorE[fTEY P LI
A - B e =<y HE HiH &% s
et N 105
B 1
&t

~ = HH A A 2024. 10
1 /Jh\ W ﬁR %: A 4R A 2024. 10

TS IHEEAR L 1. 000-00000 0.0 0
N g | T MR
A - B e BT g HiH K} T 2

EXEINGE-MEEE )
= 1

o/ (1—a)
%

Z Ot JE A
= 1

&Rt

=
g

i
I



~ = =g Al B 4E A 2024. 10
1 /5Q Wﬁ)il = B A A 2024. 10
% S S (T
RIS 7 s R AL 1.000-00000 0.0 0
N o9E | REEER
TR e Gsdis AT R [ = i
75 I
20 1
B/ (1—B)
%
— R A
T & :
aat
Sl R



N = B 57 4 A 2024. 10
2 /Jb\ W E‘R% AHNEAEA [2024. 10
T SRR 1.000-00000 0.0 0
|j<J 10% :}:T/El\“@f
ER T AE AR i W B [ o T
A 1.5
Bkt (A)
A 1.5
Hekiti (B)
A 1.5
&t

=
g

i
I




9

SRR

IEH e
xR g @R R E T )
(BHUIERE-RE. HERNRBKDHE 493 km®
TRE.REZZDER)
ﬁ%iﬂﬁﬁiﬁ 70 2
(IRHERE) H km
THEEE 45
CLEHFEOSRERVDEREDSHE) o oKm
SEER
(ETEE(E) 206 km
XTI —&
KFEE SIES
BIEAN
A&
HWoE)
HEIIKR
PllAR AT
EARA
=3




s g mIBEGREEE> (km2) | it miE(km2) [FEFEBEFE(km2) ATEER (km) 2 B E R (km) *H A E K (km)
(BHERE-AE) (IR BEE) GOEESHBEOERERVE |(GHE#MRE) |IRREEREEEL | GRKMBEEROEE)
(FAEXNREKDEEFEE) ERREDHEE) Eﬁ.ﬁgikiigg%dﬂ’ﬁ%)) T DB R AT D ENE)
7}(1\ sﬂ.J” :.“E ZEEliEl;nﬁ g ~0)£
*A & (GRKIEERER)
(HERRIEE)
REA 3.700 2.060 0.500 12.250 0.000 12.250
A& 2.300 1.835 1.500 2727 0.000 2727
OB 0.562 0.000
=51 k% ° 22.400 0.500 0.620 0.620
el 2.600 1.000 0.700 3.000 0.000 3.000
SR 2,500 0.805 0.600 1.300 0.000 1.300
Awl 15.800 0.775 0.700 0.750 0.000 0.750
49.300 7.036 4500 20.647 0.000 20.647




RESEEH

1. HEEE
W
FAEEE (kn) LEEINGE 3
T EH W OEH B BT G # GMEG (A)|EE (B)|lHE& (C)
25K 0.25 0.50 0.50
2. WwEE
W
B
SHER (knd) BEAHHR
T EH W OEH B BT B # GMEG (A)|EE (B)|lHE& (C)
30K 1.00 3.00 5.00
KR HELEGREN L, (49 THRERT ANEEREEN
3. EERERE - WA
W
B
R E R R ERD () BEAHHR
T EH W OEH B BT B # GMEG (A)|EE (B)|[HE& (C)
0Ll E~ 50k 1.00 3.00 8.00
4. BEARHKOBE - BE
W
B
R R R ERD (i) BEAHHR
T EH W OEH B BT B # GMHRG (A)|EE (B)|HE& (C)
0Ll E~ 50k 1.20 3. 60 3. 60
5. DEREORERULELEDONE
W
B
FHBEH () BEAHHR
T EH W OEH B BT B # GMEG (A)|EE (B)|[HE& (C)
30k 1.00 2.50 4.00
6. HEBEOER
W
B
R R R ERD (i) BEAHHR
T EH W OEH B BT B # GMHRG (A)|EE (B)|lHE& (C)
0Ll E~ 50k 0.50 0.50 1.00 1.00 1.50
7. OB E R T OB T A € -
BEARE
T EH W OEH B BT B # GMEG (A)|EE (B)|lHE& (C)
ZUhE FBETE) 050 050 050
SEiHE (P 1ES) 0.50 0.50 0.50
TEEHE (ERMAR 0.50 0.50 0.50




